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O{ZIo| & 2[3H B2 7|¥ Sa 1 16,000 14,400 14,400
287 28)7|2} oL C} IEEHG A 1 14,000 12,600 12,600
EfCH OIEEZ 1M1= Els L=l 1 15,500 13,950 13,950
X =7 ARALE 1 13,000 11,700 11,700
I E 2Lte? SXFLHO 1 13,000 11,700 11,700
TS Mool Defe 1 13,000 11,700 11,700
DA SOHH A Mol=a 1 13,000 11,700 11,700
SE0[2 Lt 0| Cjoj&| 1 12,000 10,800 10,800
Edd AHEM AAE 1 13,000 11,700 11,700
142 THO|QUOIA 220| WEX| 7] 7| 1 11,000 9,900 9,900
o2 R WEZL FLIO L GA 1 14,800 13,320 13,320
T4eHH|H SHE 1 11,000 9,900 9,900
=3l 1,2,3458 ME alef e 1 58,000 52,200 52,200
OhS0| Ol X| = A, 2t E EA| G{ZIO|LtE A2t 1 12,800 11,520 11,520
FOET HET| st AL dYAs 7 16,000 14,400 [ 100,800
x5 st A ETHAL 1 8,800 7,920 7,920
AL =5t=0] 1-3ME M AL 2|OF 1 25,500 22,950 22,950
JgoR B J2|AROME 1-5HME E= 1 44,000 39,600 39,600
AR B AL 1-54E A 1 44,000 39,600 39,600
H|Co|gA 1 4HNE 4ot 1 39,600 35,640 35,640
M5l QIZHET EOM 133 HE Ot2 % 1 42,000 37,800 37,800
Y| = OFX M 2] H[O| o L] s2e84l 1 12,800 11,520 11,520
| 2 OtAM M 2] | O| I &2 0| = =224l 1 11,500 10,350 10,350
CHAOI210| 3 who AH|4 Al2|= 15HHE CHLFO 2IO|(T ) 1 192,000 | 172,800 | 172,800
who % SIOIF - 20, LIRSS} [H5H/ 20187 BE CHEO 20| (M &) L 64,000 | 67,600 | 57,600
2020 £5%a 63 ELA HEF103) Ho|ghz|2l) 1 117,700 | 105,930 | 105,930
H2|, L7t 713 ek B2 ArAHE 1 12,000 10,800 10,800
27|, L7t 242 ot =272 AtAH 1 11,000 9,900 9,900
YES Lo dots Sul 1 13,800 12,420 12,420
Z0/ge| ElEE=Q{-ENE SR LG A 1 31,000 27,900 27,900
EHIZE| HdEF ARCR2Eg 1 17,000 15,300 15,300
Zol&M ALQEALA 1 16,800 15,120 15,120
H#il= s SR Aot~ 2 16,000 14,400 28,800
I}o| M for Beginner oHElotZHo| Of 1 23,000 20,700 | 20,700
0|Z40| QIEX|&0|Ct £20|C]of 1 14,800 13,320 13,320
Tem CHol gy |7t 1 13,500 12,150 12,150
Z=g|o] BXig|7| &7 X|Al-OrE 1 15,000 13,500 13,500
L= Ot LHE RECLC} Z S EA 1 14,800 13,320 13,320
SEHI| MEE D2 50| Y YET ChRs=Tt 1 24,000 21,600 21,600
OFFE 0= a 1 9,900 8,910 8,910
2 FH|s)= CiE S=A7 1 16,500 14,850 14,850




111 3za 16,800 15,120 15,120
112 22 NH XX = 21X F7 2 AE2|0t0] 12,000 10,800 10,800
113 =22 0H BAX = J8A 372 SAE2[0}0] 12,000 10,800 10,800
114 IIAE 13,000 11,700 11,700
& 0l &l &t phat 2,233,620




